
Lundi 15 juin 
 
Calculs dictés 
a. 2 fois 5   b. 4 fois 2    c. 2 fois 8      d. 9 fois 2 
e. 2 fois 3  f. 2 fois6   g. 8 partagé en 2   h. 14 partagé en 2 

 
Complète  
(3x100) + 2 = 
(6x100)+(2x10)+5= 
(5x100)+ (3x10)= 
(8x10)+7 + (2x100) = 
7 + (6x100) = 
 
Jeudi 18 juin 
 
Calculs dictés 
a. 5 fois 2  b. 4 fois5  c. 5 fois 5   d. 5 fois 4   
e. 3 fois5    f. 0 fois 5    g. 8 fois 5   h. 5 fois 9 

 
Complète 
(6x100) + 5= 
(5x100)+( 2x10) + 9= 
(9x100)+(5x10) = 
(4x10) + 8 + (2x100) = 
2 + (8x100)= 
 
Vendredi 19 juin 
 
Calcul mental 

a. 7 fois 2   b. 2 fois9   
Combien de fois : 
c. 2 dans 6 ?    d. 2 dans 10 ? 
e. 5 fois 7    f. 8 fois 5 
Combien de fois : 
g. 5 dans 10 ?     h. 5 dans 20 ? 

 
Complète 
 
8x10=              10x17=            10x20 =         
8x100              100x5 =            78x10 = 
10x….=50……  10x…..= 280       10x…..=500 
4x….=400        100x….=900….. 55x….=550 
 


